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B Fhy
4 A 6 7 8 9 10 11 12 1 2 3 4 5 6~5H R&t
) [B1Z 1 5 40 40 40 40 40 40 40 40 40 40 39 39 40
e L4 3,508 3,438 3,050 3,404 3,115 3,409 3,345 3,228| 3,361 3,406| 2,634 2,354 38,253
FIE:S 3,652 3,643 3,370 3,249 3973 3,901 3,855 3,943 3,713 4,032 3,618] 3,464 44,413
" ATERLE | 0.96 0.94 0.91 1.05 0.78 0.87 0.87 0.82 0.91 0.84 0.73 0.68 0.86
(RTALL) — (0.98) | (0.89) | (1.12) | (0,92 | (1.09 | (098 | (0.97) | (1.04) | (1.01) | (0.77) § (0.89) —
[R4 LA 4,344 4,552 3,989  4,097| 4,180 4,373 4,493 4,116 4,067 4,372 3,780] 3,545 49,910
(RIRE.RS5%) IE:3 4542 4,487 4,648 4,666 4,829 4,851 4,878 4,416 4,488 4,985 4,222 4,252 55,265
22 4 ATERLE | 0.96 1.01 0.86 0.88 0.87 0.90 0.92 0.93 0.91 0.88 0.90 0.83 0.90
(RTALL) — (1.05) | (0.88) | (1.03) | (1.02) | (1.05 | (1.03) | (0.92) | (0.99) | (1.08) | (0.86) | (0.94) —
ey s =F:d 1,042 1,228 1,155 1,172 1,206 1,134 1,256 1,148 1,189 1,138 921 855 13,445
(R, 3—9R) GIE:S 1,151 1,060 1,089 1,071 1,249 1,234 1,228 1,287 1,413 1,229 1,175 1,050f 14,235
14 % ATEXRE | 091 1.16 1.06 1.09 0.97 0.92 1.02 0.89 0.84 0.93 0.78 0.81 0.94
(RTALL) — (1.18) | (0.94) | (1.01) | (1.03) | (094 | Q.11 | .91 | (1.04) | (0.96) | (0.81) | (0.93) —
LT L4 210 188 172 173 182 173 159 156 148 162 148 1304 2,002
B 219 190 188 182 214 218 201 199 197 223 200 198 2,430
_n ATERLE | 0.96 0.99 0.91 0.95 0.85 0.79 0.79 0.79 0.75 0.72 0.74 0.66 0.82
(RTALL) — (0.90) | (0.9D) | (.01 | 1.05 | (095 | (092 | (0.99 | (0.95) | (1.09) | (0.92) § (0.88) —
e LA 2,361 2,482 2,271 2,466| 2,395 2,371 2,284 2,041 2,182 2,342| 2,170 1,748 27,111
(R avTrE)| B 2,178 2,246 1,938 2,162| 2,470| 2,434| 2,268 2,054 2,280| 2,389 2,421 2,236 27,076
21 3t BIEEXTLE 1.08 1.10 1.17 1.14 0.97 0.97 1.01 0.99 0.96 0.98 0.90 0.78 1.00
(RTALL) — (1.05) | (09D | (1.09) | (0.97 | (099 | (0.96) | (0.89) | (1.07) | (1.07) | (0.93) | (0.81) —
SEE L4 4,379 4,312 3,360  4,326| 3,655 3,924|  3,543| 3,445 4,102| 4,607 2,853] 2,083 44,590
IE:S 4,114 4,036 3,282 4,126 4,438 4,267 3,995 3,805 4,288 5,070 4,225 3,815 49,460
12 % BIEXTLE 1.06 1.07 1.02 1.05 0.82 0.92 0.89 0.91 0.96 0.91 0.68 0.55 0.90
(RTALL) — 098 | (0.79) | (1.29) | (0.84) | (1.07) | (0.90) | 0.97) | (1.19 | (1.12) | (0.62) | (0.73) —
HAUR L4 2,503 2,711 2,263 2,454 2,610 2,741 2,657 2,275 2,476 2,537 2,217 2,082 29,527
IE:S 2,520| 2,580 2,494 2,559 2,717 2,788| 2,811 2,366 2,452 2,490 2,375 2,309 30,460
12 % ATERLE | 0.99 1.05 0.91 0.96 0.96 0.98 0.95 0.96 1.01 1.02 0.93 0.90 0.97
(RTA kL) — (1.08) | (0.83) [ (1.08) | (1.06) | (1.05 | .97 | (0.86) | (1.09) | (1.02) | (0.87) ) (0.94) —

EWY L4 18,346| 18,912| 16,260| 18,092| 17,342| 18,126 17,737| 16,410| 17,526 18,564 14,723 12,798 204,836
&5 FIE:S 18,376| 18,242| 17,009| 18,015| 19,891| 19,692| 19,236| 18,071| 18,831| 20,417| 18236} 17,324 223,340
30 3 AT X} L 1.00 1.04 0.96 1.00 0.87 0.92 0.92 0.91 0.93 0.91 0.81 0.74 0.92

(RTA LL) — (1.03) | (0.86) | (1.11) | (0.96) | (1.05) | (0.98) | (0.93) | (1.07) | (1.06) | (0.79) | (0.87) —




GraEM ) AMnEE T ZExiEA N (2020558 7)) EEBEHB X
B FKL-Fhr>
4 A 6 7 8 9 10 11 12 1 2 3 4 5 6~5H R&t
) E1& 1t 3% 28 28 28 28 28 28 28 28 28 28 27 27 28
=0 L 1,866 2,104| 2,066 2,019 1,957 2,279 2,417 2,228 2,290| 2,328 2,108 1,946 25,608
‘ Al 2,179| 2,512 2,418| 2,265 2,432 2,463 2,317 2,183 2,120 2,004 2,051 1,808 26,752
16 4 BIEXTEE 0.86 0.84 0.85 0.89 0.80 0.93 1.04 1.02 1.08 1.16 1.03 1.08 0.96
(RTA k) — (1.13) | (0.98) | (0.98) | (0.97) | (1.16) | (1.06) | (0.92) | (1.03) | (1.02) | (0.91) | (0.92) =
e L 5,578 5,883 5,346 5,492 5,509 5,913 6,229 5,943 5,534 5,358  4,545] 4,112 65,440
Al 5,564 5,550 5,804 5,511 5,990 5,772 6,165 6,209 5,836 5,987 5,522 5,680 69,590
12 3 BIEXTEE 1.00 1.06 0.92 1.00 0.92 1.02 1.01 0.96 0.95 0.89 0.82 0.72 0.94
(RTA k) — (1.05) | (0.91) | (1.03) | (1.000 | (1.07) | (1.05) | (0.95) | (0.93) | (0.97) | (0.85) | (0.90) =
p— L 688 721 728 698 703 756 741 697 629 608 632 569 8,169
B 685 785 784 691 743 758 741 800 729 749 769| 689 8,925
13 3 BIEXTEE 1.00 0.92 0.93 1.01 0.95 1.00 1.00 0.87 0.86 0.81 0.82 0.83 0.92
(RTA k) — (1.05) | (1.01) | (096 | (.01 | (1.07 | (098 | (094 | (0.90) | (0.97) | (1.04) | (0.90) =
BERIE L 453 547 521 504 499 525 586 564 525 510 4801 416 6,130
(LPe. EEE/v—%)|  BIE 502 532 537 505 550 585 647 659 590 563 570 511 6,750
13 % BIEXTEE 0.90 1.03 0.97 1.00 0.91 0.90 0.91 0.86 0.89 0.91 0.84 0.81 0.91
(RTA k) — (1.21) | (0.95) | (097 | (0.99) | (1.05) | (1.12) | (0.96) | (0.93) | (0.97) | (0.94) | (0.87) =
=RIRR =3 86 121 83 96 90 103 108 115 93 98 67 90 1,150
FrRIFLNHRES|  HIE 87 114 105 110 104 94 113 110 122 119 73 81 1,231
7% BIEXTEE 0.99 1.06 0.79 0.88 0.86 1.09 0.96 1.05 0.77 0.82 0.92 1.11 0.93
(RTA k) — (1.41) | (0.69 | (1.15) | (0.93) | (1.14) | (1.05 | (1.07) | (0.81) | (1.05) | (0.69) | (1.34) =
MEE LE 394 448 435 430 453 409 425 424 394 437 418 362 5,028
R Y —4%)|  BTE 404 431 428 419 468 427 463 459 429 458 458 390} 5,234
13 3 BIEXTEE 0.97 1.04 1.02 1.03 0.97 0.96 0.92 0.92 0.92 0.95 0.91 0.93 0.96
(RTA L) — (1.14) | 0.97 | (0.99) | (1.05) | (0.90) | (1.04) | (1.00) | (0.93) | (1.11) | (0.96) | (0.86) =
HEfR L 9,065 9,824 9,179 9,239 9,212 9,985 10,504 9,971 9,466 9,338 8,249 7,495 111,526
&t IE:3 9,422 9,926 10,076 9,501 10,286| 10,099 10,446| 10,421 9,826 9,879 9,443 9,158 118,483
27 % BIEXTEE 0.96 0.99 0.91 0.97 0.90 0.99 1.01 0.96 0.96 0.95 0.87 0.82 0.94
(RITA k) — (1.08) | (0.93) | (1.01) | (.00 | (1.08) | (1.05) | (0.95) | (0.95) | (0.99) | (0.88) { (0.91) =
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